
Stable queue: Here, the arrival rate is α = 0.45 customers per time and service rate is β = 0.50 
customers per time. Since α < β, the system will eventually settle down at an average of 9 
customers in the the system. The variable Q(t) keeps track of the number of customers in the 
system, E(t) measures the fraction of time the server is idle, and W(t) is the average waiting time 
of a customer.

•

Exploding queue: Here, α = 0.95 and β = 0.5, so the queue will grow without bound. •

Two videos of a simple queueing animation:
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